Roman Numerals

In the ancient period, Romans used symbols for writing numbers. These symbols are
called Roman numerals. For example, I, 11, 111, IV, ¥, VI, VII, VIII, IX and X are the symbols
for the numbers 1 to 10,

Given below are the seven symbols used to write Roman numerals.

Roman Numerals | Vv X L C D M

Hindu-Arabic Numerals| 1 | 5 | 10| 50 100 500 1000

The seven symbols and their combinations are used to write Roman numerals.

The place value system is not followed to write Roman numerals.

Reading and Writing Roman Numerals

Let us learn the rules which help us to read and write Roman numerals.

e Rule 1: Symbols V, L and D each can be used only once in a number. They are never
subtracted.

Example: LV=50+5=55
e Rule 2:1 can be added to or subtracted from V and X only.

Example: 1X=10-1=9
Vil=5+1+1=7

* Rule 3: X can be added to or subtracted from L and C only.

Example: XCll = (100 -10)+1+1=92
XL =50-10=40

* Rule 4: Ccan be added to or subtracted from D and M only.

Example: DC = (500 + 100) = 600
CM = 1000 - 100 =900



Let us apply the rules to read the following Roman numerals:

Roman numeral | MDCCLXV | DCCLXXV] | MCCXXX | MMMCMXXIH| MMCDL

Hindu-Arabic
= 1765 776 1230 3923 2450
Adding and Subtracting Roman Numerals

We can add and subtract Roman numerals by keeping in mind the rules discussed above.
Adding Roman Numerals

When we add Roman numerals, we first convert the Roman numerals into Hindu-Arabic
numbers and add them.
Then we write the answer in Roman numerals.

For example, add LXXIV and XCIV.
LXXIV=LXX +IV=50+10+10+4=74
XCIV=XC+IV=(100-10)+(5-1)=90 + 4 =94

Hence, LXXIV + XCIV = 74 + 94 = 168 = CLXVI1II

Subtracting Roman Numerals

When we subtract Roman numerals, we first convert the Roman numerals into Hindu-
Arabic numbers and subtract the smaller number from the bigger number.
Then we write the answer in Roman numerals.

For example, subtract MCD - MCCLX

MCD = 1000 + (500 - 100) = 1400

MCCLX = 1000 + (100 + 100) + (50 + 10) = 1000 + 200 + 60 = 1260
Hence, MCD - MCCLX = 1400 - 1260 = 140 = CX

Comparing Roman Numerals

Let us see how to compare Roman numerals using the signs <, > and =.

LIX > XLVII LXXX LXV
XXXI < XClH XLVI > XLIV

v




Prepared By Sir Marshel
Class V B (Science)
Chapter 1
Plants increasing the numbers
TICK THE CORRECT ANSWER

Optiond
Option ¢
Option b
Option a
Option b
Option ¢

IS A T o

Fill in the blanks

Ans one
Ans Eye
Ans rabi
Ans groundnut

vk w e

Ans erosion

Complete the series

Ans sweet potato
Ans water

Ans pumkin

Ans cotton

LA S

Ans Bajra

Werite Short Answers

1. Name the outer Covering of a seed ?
The outer covering of a seed is called the Seed Coat.
2. Whatis a monocot seed ?
Seed with one seed seed leaf is called a monocot seed.
3. Whatis germination ?
The development of a seed into a seedling is called germination.
4. What is meant by dispersal of seeds ?
The scattering of seeds or fruits away from their parent plant by agents of nature is called
dispersal of seeds.
5. What are kharif crops ?



Crops grown june to october (summer) are called kharif crops. Rice , maize ,jowar and Bajra
are kharif crops.

6. Why do we spray pesticides on crops ?

1.

We spray pesticides on crops to protect them from being destroyed by pests.

Answer These Questions

How are plants useful to us ?

Plants are useful to us because they give us food,such as cereals,pulses,vegetables and so
on. They provide us with wood, fibre, rubber , gum ,tea and coffee . they also supply us
with the life giving oxygen . Life on earth cannot exist without plants.

Name different parts of a seed. Draw a diagram and Label its parts ?

A seed got an outer covering called as seed coat. Inside the seed there are two seed leaves
or cotyledons which are food for the baby plant within the seed developing into shoot and
root.

Cotyledon Radicle
wicropyie |

Figure : Diagram of different parts of a seed.
Name the conditions necessary for germination ?
The conditions necessary form germination are air , water , warmth (sun ligh).
Germinating seed need air to breathe. Water makes the seed coat soft. Warmth is needed
for the cells of the seed to become active.

Why must seeds be dispersed ? what are the different agents of dispersal ?

=Plants are fixed to the ground and cannot move from one place to another . if all baby
plants near the parent plant, all would not survive . they would not get enough sun light,
food , water ,and space to grow. So seed must be dispersed. The different agents of
dispersal are wind , water and animals . seeds are dispersed by the explosion of fruits.

What is Agriculture ?
The practice of growing of plants on a large scale is called agriculture.






ENGLISH -l
CHAPTER-2
(THE SENTENCE)

1.What is a sentence?Give an example.
Ans- A sentence is a group of words that makes complete sense.
E.g-l need a cup of tea.

D) Rewrite the following groups of words as meaningful sentences.
1.regular magazine good a reading habit is a
Ans-Reading a magazine regularly is a good habit.

2. should magazine | which read(question)
Ans-Which magazine should | read?

3.a good suggest magazine children's
Ans-Suggest a good children's magazine.

4. today go you the did to school (question)
Ans-Did you go to school today?

5. did principal make announcement what the(question)
Ans -What announcement did the principal make?

6. principal the of announced the names prize-winners the
Ans-The principal announced the names of the prize-winners.

7. prizes they be given and certificates Annual Function on will the day
Ans -They will be given the prizes and certificates on the Annual day Function.

E. Change this groups of words into meaningful sentences by adding some words to them:
1. The teachers are very helpful.

2. Switch off the light from my room.

3. How popular is your song?

4. There are many books on the table.

5. My father was a very hardworking person.

6. When did you go to school?

7. Try to solve this sum.

I. Write As for assertive,In for interrogative, Im for imperative and Ex for exclamatory sentences.
1. Spoken words have a great power.

Ans - AS.

2. How bitterly we may have to regret carelessly spoken words!
And - EX.

3. Have you ever faced a situation like this?

Ans - IN.

4. Think twice before speaking anything.

Ans - IM.

5. My favourite TV programme is just about to begin.

Ans - as.

6. Don't spend so much time watching television.



Ans - IM.

7. Never judge a person from his looks.

Ans - IM.

8. Some people with plain looks may be very intelligent.

Ans - AS.

9. Didn't Abraham Lincoln have an impressive personality?

And - IN.

10. What a noble, sensible and humble person Abraham Lincoln was!
Ans - EX.

J. Rewrite the following groups of words as sentences.The first word of each sentence is
underlined.The kind of sentence to be formed is mention in the brackets:(Only answer)
1.How cluttered your bed and table look!

2.The teaching of mathematics should be made more interesting.

3. Do not forget to set the alarm.

4. Who among the prize-winners is going to distribute the prizes?

5. Did you write essay without taking help from anybody?

6. What a beautiful sight the rainbow is!

7. Wash your hands carefully before eating your food.

8. All the members of the marriage party were dressed well.

9. | saw an app-like creature quickly running up the hill.

10. Didn't you feel scared at that strange sight?



Chapter-1
Class =V _ English - |
THE MICE THAT ATE IRON

A. Tick the correct answer.

1.

Mani Ram's weighing scales were made of
Ans-iron.

. Laxman did not return the weighing scales because

Ans- he was greedy.

. Laxman's son did not return from the river with Mani Ram

because

Ans- Mani Ram had locked him in his house.
Laxman was angry with Mani Ram because he
Ans- did not believe his story about the hawk.

B. Write true or false.

5.

s wnh e

True
False
False
False
True

C. Answer these guestions.

1.

Ans- Mani Ram knew that Laxman was lying about his scales
because it is impossible for the mice to eat up the iron scales.

. Ans- Mani Ram wanted Laxman to accept his lie. He also

wished to teach Laxman a lesson. So he planned to take away
his son and tell a similar illogical tale tohim.

. Ans- Laxman didn’t believed Mani Ram’s story about his son

because it is obvious that the hawk does not have the ability
to carry away his son.

Ans- This question made the sarpanch realize that there was
more to the story than what Laxman had said. He not only
cheated Mani Ram but also misguided the sarpanch.

. Ans- Mani Ram proved that neither an iron scales can be

eaten up by a mice nor a hawk can carry away a boy, the



sarpanch were convinced and ordered Laxman to return the
iron scales to Mani Ram.

F. Match these animals with their young ones
1. Kid

2. Calf

3. Joey

4. Foal

5. Fawn

H. Rearrange these words to make correct
sentences. Add capital letters and full stops

where required.

. Mani Ram asked Laxman to keep his scales safe.

. Laxman tried to steal the scales.

. Mani Ram decided to teach Laxman a lesson.

. He told Laxman that a hawk had carried away his son.

. Laxman knew this was not possible.

. He dragged Mani Ram to the sarpanch.

. The whole story came out.

. The sarpanch ordered Laxman to return the scales to Mani
Ram.
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S

ocial studies Class: 5

Chap:1. Continents and oceans

A. Fill in the blanks:

1.

7.

8.

B

.

2

3

4

5

C

—

5

D

.

Sahara

. Yellowstone

. Antarctica

. Arctic.

. Australia.

. Java.

Australia
Mariana

. Underline the correct words.
.second largest.
. Mariana trench.
. Arabian sea.

. Africa.

. Warmer.

. True or false.

. False

. False

. True.

. False.

. False.

. Answer the following

. A large mass of land on Earth is called continents.

Edit with W

PS Office



2. The seven continents are: Australia, Asia, Africa, Europe, North America, South America and
Antarctica.

3. Asia is the largest continents in the world.
4. A large continuous body of salt water is called ocean.

The major oceans of the world are: The Pacific Ocean, The Atlantic Ocean, The Indian Ocean
and The Arctic Ocean.

5. Australia is the smallest continent with many special features. It is the only continent which is
an island. The great barrier reef and the great Australian Desert are two important geographical
features of Australia.

6. The Pacific Ocean is the largest of the Earth's oceans. It covers more of the Earth's than all
the dry land. The deepest trench in the Pacific is the Mariana trench.

7. The Arctic is the smallest ocean in the world.
E. Describe the following

1. A large mass of land on Earth is a continents. Water covers three times as much as the areas
of land on the globe.

2. Oceans are large, continuous masses of salt water. They cover nearly 71% of the Earth's
surface. Smaller parts of these oceans are called seas, gulfs and bays.

3. The Mariana trench is located in the western Pacific Ocean about 200km east of the Mariana
Islands. Is is the deepest trench in the World.
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